FHSFERMRBARAREZERERR

SHERR 4 #iﬁﬁgz,? — BHIAE R — ZEBREH — Qjﬁf&é*ﬁ%’ﬁt :f:ﬁ
= B T |z | B8 (o | o | TBF | B8 e [ g |

B\ = 6 3 2 1 3 2 1 100.0% 3 2 1 0.5
K| B 5 5 3 2 5 3 2 100.0% 2 1 1 1.0
#HeEEt(REEIXIEEMEA) 2 1 1 0 1 1 0 100.0% 1 1 0 05
R {ZER 8 23 4 19 22 4 18 95.7% 10 1 9 2.8
HEBEUDEHES) 3 6 3 3 5 3 2 83.3% 2 2 0 1.7
BERIIHESEE (M. BER) 2 2 2 0 2 2 0 100.0% 2 2 0 1.0
EAREEL T 1 7 2 5 5 1 4 71.4% 1 0 1 5.0
EERELT 1 28 3 25 25 3 22 89.3% 2 0 2 25.0
EEREL 1 7 2 5 7 2 5 100.0% 1 0 1 7.0
BREBEEL 1 5 3 2 5 3 2 100.0% 1 0 1 5.0
BiEED 2 6 0 6 6 0 6 100.0% 1 0 1 3.0
E3=un 1 8 1 7 7 1 6 87.5% 0 0 0 7.0
B EHh (BE%) 3 2 2 0 2 2 0 100.0% 2 2 0 0.7
HFIEH (BE%) 5 1 0 1 1 0 1 100.0% 0 0 0 0.2
HEEL(REAIXESME) (BEE) 1 2 0 2 2 0 2 | 100.0% 2 0 2 20
EREEET (B R 55E) 1 | mBEuL |
EF|H (BREE) 4 =
#HEEALDVEHESR) (BEER) 2 2 0 2 1 0 1 50.0% 0 0 0 0.5
BEM(BRREE) 1 mf\%%t;u |
RFIEH(BRREE) 5 WHEEGTL
EEATES B (DN R BT ERD) 1 1 1 0 1 1 0 100.0% 1 1 0 1.0
EHREE (REwHSA(REB)) 1 2 1 1 2 1 1 100.0% 1 1 0 20




